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1. elkyksa dk jk”Vªh; vuqla/kku dsUnz fLFkr gS % 
 

1. National Research Centre for spices is 

located at : 

(A) dksydkrk  (A) Kolkata 

(B) dkyhdV  (B)  Calicut 

(C) iwuk  (C)  Puna 

(D) tks/kiqj  (D)  Jodhpur 

2. us’kuy C;wjks vkWQ IykaV tsusfjd fjlkslsZl 

fLFkr gS % 

 
2. N. B. P. G. R. is situated in : 

(A) y[kuÅ esa  (A) Lucknow 

(B) okjk.klh eas  (B)  Varanasi  

(C) ubZ fnYyh eas  (C)  New Delhi 

(D) iwuk eas  (D)  Puna 

3. dkyh fepZ dks 
--------------------

 Hkh dgk tkrk gSA 
 

3. Black pepper is also called as ............... . 

(A) yky lksuk  (A) Red gold 

(B) dkyk lksuk  (B)  Black gold 

(C) xksy lksuk  (C)  Round gold 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

4. lw{e&izlkj.k dks 
-------------------------

 dgrs gSaA 
 

4. Micro-propagation is also known as : 

(A) fV’kw dYpj  (A) Tissue culture  

(B) lkbVªhdYpj  (B)  Citriculture 

(C) foVhdYpj  (C)  Viticulture 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 
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5. ohfu;j xzkf¶Vax dh izo/kZu fof/k dk iz;ksx 

fd;k tkrk gS % 

 
5. Propagation method of Veneer grafting is 

used in : 

(A) vkaoyk eas  (A) Aonla 

(B) csj eas  (B)  Ber 

(C) vke esa  (C)  Mango 

(D) mi;qZDr lHkh esa   (D)  All of the above 

6. ‘khr xzhu gkml ds fy, mi;qDr ikS/ks gSa % 
 

6. Suitable plants under cool green house 

are : 

(A) dkusZ’ku  (A) Carnations  

(B) tsjsfu;e  (B)  Geraniums 

(C) LohV ih  (C)  Sweet pea 

(D) mi;qZDr lHkh   (D)  All of the above 

7. ikWyhgkml esa mxkus okys iz;qDr Qwy ds ikS/ks 

gSa % 

 
7. Suitable flower plants grow in polyhouse 

are : 

(A) xqykc  (A) Rose 

(B) dsuk  (B)  Canna 

(C) fyyh  (C)  Lilly 

(D) dkusZ’ku  (D)  Carnation  

8. gkWV csM esa ikS/kksa dks ,d NksVs iSekus ij mxkus 

dk :i gS % 

 
8. Hot bed is a small scale form of ............ 

for raising seedlings. 

(A) ysFk gkml  (A) Lath house  

(B) xzhu gkml  (B)  Green house  

(C) ‘ksM gkml  (C)  Shade house  

(D) yks Vuy  (D)  Low tunnel  
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9. lw{ethoksa dks gVkus dks dgk tkrk gS % 
 

9. Removal of microorganisms is known  

as : 

(A) fu”dklu  (A) Removal  

(B) i`FkDdj.k  (B)  Separation  

(C) Nkuuk  (C)  Filtration  

(D) mi;qZDr lHkh  (D)  All of the above 

10. xzh”e _rq gsrq mi;qDr okf”kZd ikS/kk gS % 
 

10. Suitable summer season annual plant is 

............... . 

(A) Mgsfy;k  (A) Dahlia 

(B) Mk;,sUFkl  (B)  Dianthus  

(C) dksfp;k  (C)  Cochiya 

(D) gkyhgkWd  (D)  Holyhock 

11. bf.M;u gkWVhZdYpj tuZy izdkf’kr gksrk gS % 
 

11. Indian Horticulture Journal is published 

at : 

(A) vkbZ- lh- ,- vkj-] ubZ fnYyh  (A) I. C. A. R., New Delhi 

(B) ;w- ih- lh- ,- vkj-] y[kuÅ  (B)  U. P. C. A. R., Lucknow 

(C) ,u- ch- vkj- vkbZ-] y[kuÅ  (C)  N. B. R. I., Lucknow 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

12. ikspqZykdk ikS/kk 
------------------

 dk ,do”khZ; ikS/kk gSA  
 

12. Parchulaka plant is a ............... annual 

plant.  

(A) o”kkZ _rq  (A) Rainy season 

(B) xzh”e _rq  (B)  Summer season 

(C) ‘khr _rq  (C)  Winter season 

(D) mi;qZDr lHkh  (D)  All of the above 
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13. xqykc ikS/ks ds tud gSa % 
 

13. Father of rose plant is : 

(A) ,e- ,l- LokehukFku  (A) M. S. Swaminathan 

(B) ch- jeék  (B)  B. Ramnna 

(C) ch- ih- iky  (C)  B. P. Pal 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

14. VkWfi;jh ds fy, mi;qDr Qwy@iŸks okyk ikS/kk 

gS % 

 
14. Suitable flowering/foliage plant for 

Topiary is : 

(A) eksjia[kh  (A) Thua compacta  

(B) pk¡nuh  (B)  Chadani 

(C) xqM+gy  (C)  Hibiscus  

(D) mi;qZDr lHkh  (D)  All of the above 

15. lfCt;ksa ds csekSle mRiknu dks dgrs  

gSa % 

 
15. Off season production vegetables are 

called : 

(A) ostsVscqy Qksfl±x  (A) Vegetable forcing  

(B) ekdsZV xkMZfuax ¼cktkj ckxokuh½  (B)  Market gardening  

(C) izlaLdj.k ckxokuh  (C)  Processing gardening  

(D) fdpu xkMZfuax  (D)  Kitchen gardening  
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16. ikS/kksa esa larfr o`f) dks 
------------------------- 

dgrs gSaA 
 

16. Multiplication of the plants is known  

as ................... . 

(A) dye  (A) Cutting 

(B) dfydk;u  (B)  Budding 

(C) izlkj.k  (C)  Propagation  

(D) xwVh  (D)  Layering 

17. Hkkjr esa ,d eqDr [kM+k xzhu gkml mUeq[k 

gksuk pkfg, % 

 
17. In North India, a free standing green 

house should be oriented : 

(A) iwoZ&if’pe   (A) East-West  

(B) mŸkj&nf{k.k  (B)  North-South 

(C) mŸkj&iwoZ  (C)  North-East 

(D) nf{k.k&if’pe  (D)  South-West 

18. xzhu gkml dks muds 
--------------------------

 vk/kkj ij 

oxhZd`r fd;k tk ldrk gSA  

 
18. Green house can be classified on the basis 

of their ................... . 

(A) vkdkj vkSj vkd`fr  (A) Size and shape  

(B) ‘kSyh vkSj [kaM  (B)  Style and section 

(C) vkdkj vkSj ‘kSyh  (C)  Shape and style  

(D) mi;qZDr lHkh  (D)  All of the above 

19. igkM+h {ks=ksa esa fdl izdkj ds xzhu gkml cuk, 

tkrs gSa \ 

 
19. Which type of green house is constructed 

in hilly areas ? 

(A) lkW VwFk Vkbi  (A) Saw tooth type 

(B) yhu Vkbi  (B)  Lean type  

(C) lery LiSu izdkj  (C)  Even span type  

(D) vlery LiSu izdkj  (D)  Uneven span type  
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20. mPp Qly mit ds fy, xzhu gkml eas dkcZu 

MkbvkWDlkbM dh b”Vre lkUnzrk 
------------------------- 

gksrh gSA 

 
20. For higher crop field optimum CO2 

concentration under the green house is 

................. . 

(A) 1000—2000 ih ih ,e  (A) 1000—2000 ppm 

(B) 800—1200 ih ih ,e  (B) 800—1200 ppm 

(C) 500—1000 ih ih ,e  (C) 500—1000 ppm 

(D) 800—1000 ih ih ,e  (D) 800—1000 ppm 

21. xzhu gkml esa lcls mi;qDr ‘kkd Qly gS % 
 

21. Most suitable vegetable crop growing in 

green house : 

(A) QwyxksHkh  (A) Cauliflower 

(B) I;kt  (B)  Onion 

(C) VekVj  (C)  Tomato 

(D) mi;qZDr lHkh  (D)  All of the above 

22. xzhu gkml dh [ksrh ds fy, VekVj dh lcls 

mi;qDr Qly gS % 

 
22. Suitable plant type of tomato crop for 

green house cultivation is : 

(A) vfuf’pr izdkj  (A) Indeterminate type 

(B) fu/kkZfjr izdkj  (B)  Determinate type  

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 
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23. lajf{kr [ksrh ds fy, lcls mi;qDr Qy gS % 
 

23. Most common fruit for protected 

cultivation is : 

(A) dsyk  (A) Banana 

(B) psjh  (B)  Cherry 

(C) [kqckuh  (C)  Apricot 

(D) LVªkWcsjh  (D)  Strawberry  

24. lajf{kr [ksrh ds vUrxZr lcls vf/kd iz;ksx 

dh tkus okyh flapkbZ iz.kkyh gS % 

 
24. The most used irrigation system under 

protected cultivation is : 

(A) okVj dsu iz.kkyh  (A) Water can system  

(B) ckSNkjh iz.kkyh  (B)  Sprinkler system  

(C) Vid flapkbZ  (C)  Drip irrigation  

(D) ukyh fof/k  (D)  Channel method  

25. izo/kZu dk D;k mís’; gS \ 
 

25. What is the purpose of propagation ? 

(A) mfpr teko  (A) Proper germination  

(B) mfpr tM+sa  (B)  Proper rooting  

(C) mfpr vadqj.k  (C)  Proper sprouting  

(D) mi;qZDr lHkh  (D)  All of the above 

26. Vid flapkbZ dk nwljk uke gS % 
 

26. Another name of drip irrigation is : 

(A) lrgh flapkbZ  (A) Surface irrigation 

(B) rkj flapkbZ  (B)  Wire irrigation 

(C) fVªdy flapkbZ  (C)  Trickle irrigation 

(D) dw¡M+ flapkbZ  (D)  Furrow irrigation 



 

AGE–61 ( 10 )  Set-D 

27. NksVk xzhu gkml gS % 
 

27. Which is mini green house ? 

(A) usV gkml  (A) Net house  

(B) Nk;knkj ?kj  (B)  Shade house  

(C) fuEu lqjax  (C)  Low tunnel  

(D) /kqa/k d{k  (D)  Mist chamber 

28. ikWyhgkml dh fn’kk gksrh gS % 
 

28. Direction of polyhouse : 

(A) mŸkj&nf{k.k  (A) North-South 

(B) mŸkj&iwoZ  (B)  North-East 

(C) nf{k.k&iwoZ  (C)  South-East 

(D) nf{k.k&if’pe  (D)  South-West 

29. /kqa/k D;kfj;k¡ gSa % 
 

29. Mist beds are : 

(A) vadqj bdkb;k¡  (A) Seedling units  

(B) ‘kkd mRiknu bdkb;k¡  (B)  Vegetable production units 

(C) vadqj.k bdkb;k¡  (C)  Germination units 

(D) izo/kZu bdkb;k¡  (D)  Propagation units 

30. r[rk ¼ysFk½ ?kj cgqr mi;ksxh gS % 
 

30. Lath house is very useful in : 

(A) cgqr xeZ {ks= eas  (A) very warm region  

(B) cgqr BUMs {ks= eas  (B)  very cold region  

(C) o”kkZ ekSle eas  (C)  rainy season 

(D) mi;qZDr lHkh  (D)  All of the above 
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31. lcls lLrh <dus okyh lkexzh gS % 
 

31. Which is the most inexpensive covering 

material ? 

(A) ikWyhFkhu  (A) Polythene 

(B) ikWyh,LVj  (B)  Polyester 

(C) ih- oh- lh- fQYe  (C)  PVC film 

(D) Qkbcj Xykl  (D)  Fiber glass 

32. lcls lkekU; iyokj dk iz;ksx fdlds fy, 

fd;k tkrk gS \ 

 
32. What is the most common mulch used  

for ? 

(A) [kjirokj fu;U=.k  (A) Weed control 

(B) ueh laj{k.k  (B)  Moisture conserve  

(C) isLV fu;U=.k  (C)  Pest control 

(D) mPp mRiknu  (D)  High yield  

33. Qynkj ikS/kksa ds fy, dkyh ikWyhFkhu dh 

iyokj dh mfpr eksVkbZ gS % 

 
33. Ideal thickness of black polythene mulch 

for fruit plant is : 

(A) 100 ekbØkWu  (A) 100 micron 

(B) 200 ekbØkWu  (B)  200 micron 

(C) 250 ekbØkWu  (C)  250 micron 

(D) 300 ekbØkWu  (D)  300 micron 
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34. ve#n ds Qyksa dh Qly esa fdl izdkj dh 

iyokj iz;ksx dh tkrh gS \ 

 
34. Which type of mulch is common in guava 

fruit crops ? 

(A) dkcZfud iyokj  (A) Organic mulch  

(B) dkyh ikWyhFkhu  (B)  Black polythene  

(C) e`nk iyokj  (C)  Soil mulch 

(D) ydM+h dk cqjknk  (D)  Saw dust 

35. ikyhgkml esa mxkbZ tkus okyh mi;qDr Qly 

gS@gSa % 

 
35. Suitable crop grown in polyhouse is/are : 

(A) VekVj  (A) Tomato 

(B) f’keyk fepZ  (B)  Capsicum  

(C) ddM+h@[khjk  (C)  Cucumber 

(D) mi;qZDr lHkh  (D)  All of the above 

36. izkd`frd :i ls goknkj xzhu gkml dk ,d 

izdkj gS % 

 
36. ............... is a type of naturally ventilated 

green house. 

(A) ijrnkj lajpuk  (A) Tubular structure 

(B) ydM+h dh lajpuk  (B)  Wooden structure 

(C) ck¡l dh lajpuk  (C)  Bamboo structure 

(D) mi;qZDr lHkh  (D)  All of the above 

37. xeZ xzhu gkml dh jkf= dk rkieku fdruk 

gksrk gS \ 

 
37. What is the night time temperature of 

warm green house ? 

(A) 8-12°C  (A) 8-12°C 

(B)  10-13°C  (B)  10-13°C 

(C)  15-20°C  (C)  15-20°C 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 
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38. BaMs xzhu gkml dk jkr dk rkieku fdruk 

gksrk gS \ 

 
38. What is the night time temperature of 

cool green house ? 

(A) 5-7°C  (A) 5-7°C 

(B)  10-12°C  (B)  10-12°C 

(C)  12-18°C  (C)  12-18°C 

(D)  7-10°C  (D)  7-10°C 

39. buesa ls lajf{kr [ksrh dk ?kVd ugha gS % 
 

39. Which is not a component of protected 

cultivation ? 

(A) Vid flapkbZ  (A) Drip irrigation  

(B) ‘ksM usV  (B)  Shed net 

(C) fuEu lqjax  (C)  Low tunnel  

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

40. lkexzh dh lQkbZ 
----------------------

 }kjk dh tkrh gSA 
 

40. Cleaning of material is done by ............. . 

(A) NVkbZ  (A) Screening 

(B) gkFk ls mBkuk  (B)  Hand picking  

(C) /kqykbZ  (C)  Washing 

(D) mi;qZDr lHkh  (D)  All of the above 

41. yhu Vw xzhu gkml gS % 
 

41. The lean to green house has : 

(A) dksbZ Nr <yku ugha   (A) No roof slope 

(B) rhu Nr <yku   (B)  Three roof slopes 

(C) dsoy ,d Nr <yku   (C)  Only one roof slope 

(D) dbZ Nr <yku   (D)  Many roof slopes 
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42. xzhu gkml cus gksrs gSa % 
 

42. Green house is made up of : 

(A) b±V ds  (A) Bricks 

(B) dk¡p ds  (B)  Glass 

(C) rk¡cs ds  (C)  Copper 

(D) LVhy ds  (D)  Steel 

43. xzhu gkml xSlksa esa cgqr vf/kd ek=k esa  

-----------------
 ikbZ tkrh gSA 

 
43. Green house gases include in a very high 

quantity ................ . 

(A) bZFksu  (A) Ethane 

(B) dkcZu MkbvkDlkbM  (B)  Carbon dioxide 

(C) izksisu  (C)  Propane  

(D) ehFksu  (D)  Methane 

44. vojDr fofdj.k dh rjaxnS?;Z gksrh gS % 
 

44. The wavelength of infrared radiation is : 

(A) de  (A) Shorter 

(B) vf/kd  (B)  Longer 

(C) vuar  (C)  Infinite 

(D) ‘kwU;  (D)  Zero 

45. lw;Z dh i`Foh ij fdruh ÅtkZ vf/k’kksf”kr gksrh 

gS \ 

 
45. How much energy is absorbed from the 

Sun to Earth ? 

(A) 25%  (A) 25% 

(B)  50%  (B)  50% 

(C)  75%  (C)  75% 

(D)  100%  (D)  100% 
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46. IykfLVd xzhu gkml ds vUrxZr fdl ns’k dk 

{ks=Qy vf/kdre gS \ 

 
46. Which country has maximum area under 

plastic green house ? 

(A) Hkkjr  (A) India 

(B) phu  (B)  China 

(C) ;w- ,l- ,-  (C)  USA 

(D) teZuh  (D)  Germany 

47. xzhu gkml dh feêh dks 
-------------------------

 ckn ubZ 

ckx dh feêh ls cny fn;k tkrk gSA 

 
47. Green house soil is replaced with fresh 

garden soil in every .................. . 

(A) 2&3 o”kZ  (A) 2-3 years 

(B) 4&5 o”kZ  (B)  4-5 years 

(C) 5&7 o”kZ  (C)  5-7 years 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

48. xzhu gkml eas ikS/kksa dh o`f) ds fy, vkn’kZ 

lkisf{kd vknZzrk gS % 

 
48. Ideal relative humidity for plant growth 

in green house is : 

(A) 60-80%  (A) 60-80% 

(B)  50-60%  (B)  50-60% 

(C)  40-50%  (C)  40-50% 

(D)  20-40%  (D)  20-40% 
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49. mfpr ikS/kksa dh o`f) ds fy, fuEufyf[kr ikS/k 

i;kZoj.k dh vko’;drk gS % 

 
49. For optimum plant growth the following 

plant environment is needed : 

(A) rkieku  (A) Temperature 

(B) izdk’k  (B)  Light 

(C) vknzZrk   (C)  Humidity 

(D) mi;qZDr lHkh  (D)  All of the above 

50. xzhu gkml eas fdl doÇjx lkexzh ls 

vf/kdre izdk’k lapj.k gksrk gS \ 

 
50. Which covering material in green house  

does allow maximum light transmission ? 

(A) dk¡p  (A) Glass 

(B) ikWyhFkhu  (B)  Polythene  

(C) Qkbcj Xykl  (C)  Fibre glass 

(D) ikWfyLVj  (D)  Polyester 

51. feêhjfgr [ksrh dks dgrs gSa % 
 

51. Soilless cultivation is known as : 

(A) ,iksiksfuDl  (A) Apoponics 

(B) ,jksiksfuDl  (B)  Aeroponics 

(C) gkbMªksiksfuDl  (C)  Hydroponics 

(D) thjksiksfuDl  (D)  Zeroponics 
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52. IykfLVd Vuy dk lh/kk mi;ksx D;k gS \ 
 

52. What is the direct use of plastic tunnels ? 

(A) ikS/k izo/kZu  (A) Plant propagation  

(B) ulZjh mxkuk  (B)  Raising nursery  

(C) ‘kkd mRiknu  (C)  Vegetable production 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

53. dfVax izo/kZu ds fy, loZJs”B tM+ fodkl 

ek/;e gS % 

 
53. Best rooting medium for propagation of 

cutting is : 

(A) feêh  (A) Soil 

(B) ckyw  (B)  Sand 

(C) ihV e`nk  (C)  Peat soil 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

54. ok;q ys;fjax }kjk ikS/kksa ds izo/kZu dks 
-------------------------

 

ds uke ls Hkh tkuk tkrk gSA  

 
54. Plant propagation by air layering is also 

known as ............... . 

(A) xwVh  (A) Gooty 

(B) drZu  (B)  Cutting 

(C) dye ck¡/kuk  (C)  Grafting  

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 
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55. fcuk fu”kspu ds fodflr Qy dgykrk  

gS % 

 
55. Fruit developed without fertilization is 

known as : 

(A) ikFksZuksdkihZ  (A) Parthenocarpy  

(B) ikFksZukstsusfll  (B)  Parthenogenesis 

(C) QVhZtsuksfll  (C)  Fertigenosis 

(D) dSjhfQds’ku  (D)  Carification  

56. ikFksZuksdkfiZd Qy gSa % 
 

56. Parthenocarpic fruits are : 

(A) vlR; Qy  (A) False fruit  

(B) fefJr Qy  (B)  Composite fruit  

(C) chtjfgr Qy  (C)  Seedless fruits  

(D) nksuksa (A) vkSj (B)  (D)  Both (A) and (B) 

57. dye cukbZ tkrh gS % 
 

57. Cuttings are made from : 

(A) rus ls   (A) Stem  

(B) iŸkksa ls   (B)  Leaves 

(C) jkbt+kse ls   (C)  Rhizomes 

(D) mi;qZDr lHkh  (D)  All of the above 
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58. dsyk dk izlj.k gksrk gS % 
 

58. Banana is propagated by : 

(A) ldlZ }kjk  (A) Suckers 

(B) julZ }kjk  (B)  Runners 

(C) cYc~l }kjk  (C)  Bulbs 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

59. elkyksa dk jktk gS % 
 

59. King of spices is : 

(A) fepZ  (A) Chilli 

(B) /kfu;k  (B)  Coriander  

(C) dkyh fepZ  (C)  Black pepper 

(D) thjk  (D)  Cumin 

60. vnjd dk izlkj.k gksrk gS % 
 

60. Ginger is propagated by : 

(A) jkbtkse }kjk  (A) Rhizome  

(B) ?kudUn }kjk  (B)  Corms  

(C) dUn }kjk  (C)  Tubers 

(D) mi;qZDr lHkh  (D)  All of the above 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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